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Math 3 // UNIT 1

MORE FUNCTIONS, MORE ATURES Unit 1 - Lesson 4

Name Period Date
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Topic: Solving absolute value equations.
Solve for x. (You will have two answers.)
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12. E iamw y the equation |m| = —3 has no solution. _
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Which of these is a solution to the given inequality? Justify your answer.
1. Ax+11<11 2. 317-2x+5>14

a. x= 3YesorNK) \_,‘::,6& a. x=3 YesofNo ) ‘5/‘\%
b. x= —lYesprNo 3 -f‘§ b. x= —lYE-s\brNo\B&
c. x= ZslgorNo WA c. x=25 Yesorﬁ)\\/'\”\

Show the solution for each inequality on the number line provided.
3. All the numbers that are less than 3 units from 0
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4. All the numbers that are at least 5 units away from 2.
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5. Al numbers such that when you add 3, the result is no more than 8.

XN cbtd WG }
%WH‘#W*!’*:II[::: i
!

L Page 21



— = TSRS S e 2 R e O e i O S A .

Math 3 // UNIT 1
MORE FUNCTIONS, MORE FEATURES

6. All values of x for which Ix-6]>3
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Solve each inequality algebraically.
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13. As Lily thought about her learning, she wondered how her work would apply to a specific
distance, not just “closer than” or “further than”. Describe how you would find the
number(s) Mo could stand on to be exactly 9 feet from the sensor in the flower bed.
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Graph each function. Be sure to Iabel your work.

o) =x-37-1 S
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a. Identify the x-intercept(s) for this graph. M
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14, f(r) = (x+ 1) - 4
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a. ldentify the x-intercept(s) for this graph.

15. f(x)=2" -8

a. Identify the x-intercept(s) for this graph.
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